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Sno Question
Choose the correct word: "The city was due to the storm.”
. . . . Correct
1 Option A Option B Option C Option D Answer
English |Devastated Devastating Devastate Devastates A
Fill in the blank: "The boy is to join the team.”
. . . 4 Correct
2 Option A Option B Option C Option D Answer
English |Excited Exciting Excitement Excitedly A
Choose the antonym of "Flexible":
. - . . Correct
3 Option A Option B Option C Option D Answer
English|Rigid Soft Smooth Strong A
Choose the correct word: "The company is the project next week."
. . . . Correct
4 Option A Option B Option C Option D Answer
English |Starting Start Starts Started A
Choose the correct preposition: "He is fond reading books."
. . . . Correct
5 Option A Option B Option C Option D Answer
English|In of On At B
Choose the synonym of "Reluctant":
. . . . Correct
6 Option A Option B Option C Option D Answer
English |Willing Hesitant Eager Ready B




Choose the synonym of "quick":

. . . . Correct
7 Option A Option B Option C Option D Answer
English |Fast Slow Lazy Quiet A
Choose the correct word: "The team in the finals."
. . . . Correct
8 Option A Option B Option C Option D Answer
English |Participated Participates Participating Participate A
Choose the opposite of "generous":
. . . . Correct
9 Option A Option B Option C Option D Answer
English |Selfish Kind Polite Friendly A
Choose the correct word: "The meeting was for next week."
. . . . Correct
10 Option A Option B Option C Option D Answer
English |Rescheduled Reschedule Reschedules Rescheduling |A
Choose the correct word: "She every morning."
. z . . Correct
11 Option A Option B Option C Option D Answer
English |Runs Run Running Ran A
Choose the correct sentence:
. . . . Correct
Option A Option B Option C Option D Answer
12 | could of | could have (I could of | could have
finished my finished my finished my finished my
English|work, but | work, but | work but | work but | B
decided to take |decided to decided to take |decided to
a break. take a break. |a break. take a break.
Fill in the blank: "She her friend with the homework."
. . . . Correct
13 Option A Option B Option C Option D Answer
English |Helped Helps Helping Help A
Choose the correct sentence: "He in the kitchen when | arrived.”
. . . . Correct
14 Option A Option B Option C Option D Answer
English | Cooked Was cooking |Cooking Cook B
Choose the correct word: "She is the most student in the class."
. . . . Correct
15 Option A Option B Option C Option D Answer
. . More More . .
English |Intelligent intelligent intelligenter Most intelligent|D




Fill in the blank: "We should

the problems together.”

. . . . Correct
16 Option A Option B Option C Option D Answer
English|Solve Solving Solves Solved A
Choose the correct conjunction: "I will come to the office | have some
work to do."
17 . . . . Correct
Option A Option B Option C Option D Answer
English [But And Because Or C
Choose the synonym of "Abundant":
. . . . Correct
18 Option A Option B Option C Option D Answer
English|Sparse Rare Plentiful Limited C
Fill in the blank: "The workers were with the new policies."
: . . . Correct
19 Option A Option B Option C Option D Answer
English|Confused Confusing Confuse Confuses A
Choose the correct form of the verb: "She for the project every day."
. . . . Correct
20 Option A Option B Option C Option D Answer
English |Worked Works Working Is working B
Choose the correct form of the verb: "I my work every day."
. . . ! Correct
21 Option A Option B Option C Option D Answer
English|Complete Completes Completing Completed B
Choose the correct sentence: "She her homework when | saw her."
. v . . Correct
22 Option A Option B Option C Option D Answer
English|Was doing Does Did Doing A
Choose the correct sentence: "She was confused the situation.”
. . . . Correct
23 Option A Option B Option C Option D Answer
English|About of With For C
Choose the antonym of "Transparent”:
. . . . Correct
24 Option A Option B Option C Option D Answer
English |Clear Opaque Visible Bright B
Fill in the blank: "I the project report by the end of the week."
. . . . Correct
25 Option A Option B Option C Option D Answer
English |Will submit Submitted Am submitting |Submitting A




Choose the correct conjunction: "She went to the market

she forgot her

wallet.”
26 . . . . Correct
Option A Option B Option C Option D Answer
English |But So Because And A
Choose the antonym of "Comfortable":
. . . . Correct
27 Option A Option B Option C Option D Answer
English|Uncomfortable |Pleasant Soft Warm A
Choose the correct sentence: "I to the store every day."
. . . . Correct
28 Option A Option B Option C Option D Answer
English|Go Goes Went Going A
Choose the synonym of "Abundant”:
: . . . Correct
29 Option A Option B Option C Option D Answer
English |Rare Plenty Few None B
Choose the correct word: "We will the presentation next week."
. . . . Correct
30 Option A Option B Option C Option D Answer
English |Prepare Prepares Prepared Preparing A
Choose the correct preposition: "She is sitting the chair."
. . . ! Correct
31 Option A Option B Option C Option D Answer
English|On In At With A
Choose the correct word: "The teacher asked the students to their books."
. v . . Correct
32 Option A Option B Option C Option D Answer
English|Open Opens Opening Opened A
Choose the correct sentence: "We the meeting yesterday."
. . . . Correct
33 Option A Option B Option C Option D Answer
English|Had attended Have attended |Attend Attended D
Choose the correct sentence: "The employees are to follow the
guidelines."
34 . . . . Correct
Option A Option B Option C Option D Answer
English |Required Requiring Require Requires A
Choose the correct preposition: "She is always engaged her work."
. . . . Correct
35 Option A Option B Option C Option D Answer
English|In On At With A




Choose the antonym of "Diligent":

. . . . Correct
36 Option A Option B Option C Option D Answer
English|Lazy Hardworking |Persistent Focused A
Choose the antonym of "Weak":
. . . . Correct
37 Option A Option B Option C Option D Answer
English|Strong Soft Fragile Feeble A
Choose the correct word: "She her lunch at work every day."
. . . . Correct
38 Option A Option B Option C Option D Answer
English |Eats Eat Eating Eaten A
Fill in the blank: "He was with his job."
. . . . Correct
39 Option A Option B Option C Option D Answer
English |Satisfied Satisfying Satisfies Satisfy A
Choose the correct form of the verb: "They the game last week."
. z . K Correct
40 Option A Option B Option C Option D Answer
English|Win Wins Winning Won D
Choose the antonym of "Weak":
. . . . Correct
41 Option A Option B Option C Option D Answer
English |Strong Fragile Sensitive Soft A
Identify the part of speech: "She solved the problem easily."
. . A . Correct
42 Option A Option B Option C Option D Answer
English|Noun Verb Adverb Adjective C
Choose the correct sentence: "They an email to the client last week."
; . . . Correct
43 Option A Option B Option C Option D Answer
English |Sent Send Sending Sends A
Choose the correct form of the verb: "I the presentation yesterday."
. . . . Correct
44 Option A Option B Option C Option D Answer
English |Gave Give Giving Gives A
Choose the synonym of "Cautious":
. . . . Correct
45 Option A Option B Option C Option D Answer
English | Careful Reckless Bold Unaware A




Identify the tense: "She had already left when | arrived."

. . . . Correct
46 Option A Option B Option C Option D Answer
English|Present Perfect (Past Simple Past Perfect Future Simple |C
Choose the correct preposition: "I am interested learning more about it."
. . . . Correct
47 Option A Option B Option C Option D Answer
English|In By For On A
Choose the correct sentence: "We gone to the market."
. . . . Correct
48 Option A Option B Option C Option D Answer
English|Had Have Have had Will B
Identify the tense: "I had finished my work before the meeting started.”
. . . . Correct
49 Option A Option B Option C Option D Answer
English|Past Perfect Present Perfect|Future Simple |Present Simple |A
Choose the correct preposition: "She is looking her book."
. z . K Correct
50 Option A Option B Option C Option D Answer
English |For On At To A
In terms of Pass rule, Family includes ___*?
U9 OH & 939 &, yfER & ___ A 2
; . ] { Correct
Option A Option B Option C Option D Ansuer
51 Spouse Dependent .
English | (whether sons under 21 LMariiey APOREIC
. daughters above
earning or not) |years of age 5
STl (e (21 WA FA | oo
Hindi |7 & & 91 |G H 0T |3o2 YT B T
CE)) q
What is the reservation quota for EWS candidates in recruitment?
Al H §550YUH SFHIGART @ (oY STHU HIST FT B2
. . . . Correct
52 Option A Option B Option C Option D Answer
English|5% 8% 10% None of these
C

Hindi

5%

8%

10%

TTH & B
e




RVNL stands for

RVNL &T HAdS &

-3 Option A Option B Option C Option D ggg:::
English, \ioom Limited |Nigam Limted |National Limited | NOT® Of these
o Gk R N SR

e fifdes  |[Toee ofeds |saeter fofdes (==t
Which leave cannot be combined with any other leave?
H A Gel Thdl T §eel & T1Y Tq6l Sl o Tahar?

" Option A Option B Option C Option D ggg:::
English Leave o o /< ERIGIal Casual Leave |Study leave

Average Pay Average Pay
Hindi |19Q 999 0T |9 had | ShiEAd FeTaT ¢
geer A 9T Gl | FIHT FHAHIA
A person other than the citizen making a request for information & includes a public
authority under RTI Act is called .
WT & Ty FFUY LA qTel_ARTNE & FelTdl T sAh 3T RTl SAIH &
U&h WA WIS & __ Hel ST ol

55 Option A Option B Option C Option D ng:::
English |First party Second party |Third party RTI Activist
Hindi T8 4& EGIURE) GRS %EE%T% Ny
Since when the new Pension Scheme is introduced?

TE YA I Y @ AE 6 IS B9

56 Option A Option B Option C Option D ng:::
English|01.04.2004 01.03.2004 01.01.2004 01.01.2004 C
Hindi [01.04.2004 01.03.2004 01.01.2004 01.01.2004
Maximum limit of Child Care Leave is
T GHT TR hl ATAHAH AT &

57 Option A Option B Option C Option D ng:::
English|365 Days 540 Days 600 Days 730 Days
Hindi [365 f&=T 540 f&=T 600 T 730 fo=1 P




MPP Stands for

MPP T HIIT &

. . . . Correct
” Option A Option B Option C Option D Answer
Enalish Man Power Man Power Man Power None of the
g Procurement Planning Processing above 8
Hingi |27 T2 A U A g7 ﬁ B
LHAP of a Railway Servant will be credited with days in a year
T& I8 FHAT P TACIUUY T a9 & & FAT BAT STET
. . . . Correct
59 Option A Option B Option C Option D Answer
English |10 15 20 25 c
Hindi (10 15 20 25
CAO full form in Railways is
T H CAO &7 Gl Wi oIl ©
. . . . Correct
Option A Option B Option C Option D Answer
60 Chief ) Central . .
English |Administrative g?flgefccounts Administrative grfufliii;fnalytlcs
Officer Officer
Hearg A
. | ET UG | HET AT &I BT
Hindi PRIEIGED
ATIHIET G IBEAN SR SISEa]
FNM full form is
FNM &7 ol it ©
. . A . Correct
61 Option A Option B Option C Option D Answer
. 1 |Fore Noon : Few Numbered |Fort-Nightly
English Meetings Fag biSik Meetings Meetings b
Hindi |q198< 67 3&% (3T T Wa%%m WW'W o
Standard Form for deeming Railway servant under suspension
TS FHAN Hl WA Sd A D [T ATHAS U9
. . . . Correct
62 Option A Option B Option C Option D Answer
English |SF-1 SF-2 SF-5 SF-7 5
Hindi |SF-1 SF-2 SF-5 SF-7




63

Which of the following statement is not correct with respect to Child Care Leave
(CCL)?

T[T aGHTT TR (CCL) B T A [FFAT@d & T DI 9T YT Ter &) 29

. . . . Correct

Option A Option B Option C Option D Answer

It may be
, d for
It is allowed for grapte A separate
a maximum of taking care of |It may be leave account
. . |the two eldest |granted for a h
English|730 days during o . will be
the entire Surviving minimum of maintained for
service children up to [days in a spell. ccL
' the age of 18 '

years. C

' T 18 AW _Hl

0 WA S W%ﬁsﬁwwﬁ ccL & g

R Af&FaH LK} oY

. Sy R qeat | FTH & TP AT
Hindi (730 ED T = ST 3

IERLal $T EHTT B LT

AT TN N, ¥ T s
T ol

The maximum qualifying service taken for calculation of death cum retirement Gratuity
is ?

gﬂw-@aﬁqﬁfaﬁg&ﬁaww%ﬁtﬁaﬁwmﬁwww
?

o Option A Option B Option C Option D gg;f:::
English|20 Years 25 Years 30 Years 33 Years
Hindi (20 9% 25 99 30 9§ 33 9§ P
According to the D&A Rules, the time limit to appeal against an order of punishment
is ___ days from the date of receiving the punishment notice.

D8A T & FER, TS & 3R & (G U HL Dl TAT AAT G A1
T B S e 9 __ & 2

% Option A Option B Option C Option D ng:::
English |15 Days 30 Days 45 Days 60 days
Hindi |15 &= 30 =T 45 =T 60 =T c
Present bench mark of APAR required for MACP is ____ ?
MACP & ToIT 3TaeTs APAR &T ToTsT SaTH 29

66 Option A Option B Option C Option D Xﬁ?;:::
English |Outstanding Very Good Good Average
Hindi | 3FT&mor TET ST | IO Fad i




Maximum of the maternity leave admissible is

days.

TAHT ATGed FARIA Bl SATAHAH AT =’ 3
. . . . Correct
67 Option A Option B Option C Option D Answer
English|120 Days 180 Days 150 Days 90nDays B
Hindi |120 &= 180 Tt 150 fo=t 90 fe=t
Which committee reviews the service conditions of railway employees?
FT AT GEATT I FHATAT DT JaT AT DT GHRT HLAT 29
. . . . Correct
o Option A Option B Option C Option D Answer
. .. |Finance Parliamentary |Staff Welfare
English Pay Commission commission Committee Committee
- T A
Hindi (37 sEmr  (faw smaer  |@@dg ¥ | oo s

If dependents are included in the privilege pass then how many maximum number of
members are permitted?

gl AR I | 3T ST ATHS AT JaT & ar ATHaH fha=t &gt &

FHATT ®

?

%9 Option A Option B Option C Option D ggls'l‘;f::
English|3 4 5 b
Hindi |3 4 5
The rules relating to giving/taking of dowry is contained in Rule no. of Railway

Service Conduct Rule, 19669

TR A/ T Gerd =g =g gear # [Afed 21 399 Qar =< =9, 1966

B3l ?
70 Correct
Option A Option B Option C Option D Answer
English|Rule 13 Rule 13A Rule 18(3) Rule 16
Hindi |F==e 13 == 13A o 183) [T+ 16 8
In case of suitability test, the vacancies are to be calculated on the basis of -
3UGTHAT T & ATHS H, RIHAT ST IO o & STUR T D A -

71 Option A Option B Option C Option D gggf::
English |Existing vacancy Cgﬁg@ted \'}aeggr'ff;t A of the 5
Hindi |[#SET RWih  |[oedni¥a Rieh |afvomed it |Suw & @sh
Name the Agency for recruitment to Group A posts on railways.

W H YT T G&T W Al & (oI Tl T A1 T

72 Option A Option B Option C Option D Xﬁ?;:::
English |SSC RRB UPSC RRC c
Hindi (SSC RRB UPSC RRC




For seletion post, antcipated vacancies should be taken up to which period-

TIT U B (oY TeATAT KDl BT (vl TS qa ToraT ST=TT aTiey-

73 Option A Option B Option C Option D ggzl;f::
English|12 months 15 months 18 months 24 months B
Hindi |12 #AES 15 e 18 R 24 ATE
Full form of PREM -

PREM &T Tl TiH -
Option A Option B Option C Option D XEZI;S::
4 Promotion Participation of |Productivity
7 . , |Management of |Railway Management of [None of the
English |, _. i .
Railway Employee in |Railway above
Employees Management |Employees B
T3 AN | FoU_7 009 [T FAARGT |2 o e
Hindi [T YA HHAN HT | SARHAT gy
PELDH HIINETr PELGE

75

Maximum Leave on Half Average Pay (LHAP) can be granted to a railway employee at
a time is __°?

Wh@ﬁaﬁﬁ@mﬁ%@@m%ﬂwm@(mmﬁm
eI

; A . ! Correct
Option A Option B Option C Option D Answer
English|6 month 12 Months 18 Months 24 months b
Hindi |6 FEIA 12 AL 18 HEIH 24 HTE

76

In a family of six members, P is the father of Q, who is the brother of R. S is the
sister of Q. T is the son of R. How is S related to T?

BT TIEAT It IR H, P, Q FT AT 2, STR AT HTE 21 S, Q I I&T & T, R &7
73 21 S, T ¥ fo5g yor gafeq e»

. " . . Correct
Option A Option B Option C Option D Answer
English |Sister Aunt Mother Grandmother
Hindi |98+ Trar 1) FTar

77

A student multiplied a number by 6 instead of dividing it by 6. By how much is his
result greater than the correct result?

TF BT o [6dl T FT 6 T [THING A & 91T 6 T I[OT FT QAT 3HH
GO el qieonH & feder g e

. . . . Correct
Option A Option B Option C Option D Answer
English|36 times 5 times 7 times 12 times A
Hindi |36 91T 5 91T 7 9T 12 9T




A student took 3 tests. The scores were 65, 72, and 88. What is the average score?

T O o 3 U Y THIT 65, 72, 3T 88 A 3hAd THIT 4T 29

78 Option A Option B Option C Option D ggg:::
English|75 70 68 74 A
Hindi |75 70 68 74
What is the next term in the series: 2, 4, 8, 16, 329
FGAT A AT UK FAT 2: 2, 4, 8, 16, 329
79 Option A Option B Option C Option D XEZ::::
English |64 60 58 56 A
Hindi |64 60 58 56
The ratio of the present ages of A and B is 4:5. After 10 years, the ratio will be 5:6.
What are their present ages?
A 3T B Y T G HT SAATT 4:5 21 10 TN & (& AT 5:6 B AL ST
o0 FAATT Y FAT o2
Option A Option B Option C Option D ng:::
English|20 and 25 40 and 50 24 and 30 36 and 45
Hindi |20 3R 25 40 37 50 24 3T 30 36 3T 45 c
A sum of /2000 is invested at a rate of 5% per annum simple interest. What will be
the amount at the end of 3 years?
2000 &7 T& A 5% Tl T YR AT S & T AT ST A0 2 3 T B I
FH A T TEAe
81 . . < . Correct
Option A Option B Option C Option D Answer
English |l 2,300 I 2,500 Il 2,600 I 2,700
Hindi [l 2,300 Il 2,500 I 2,600 Il 2,700 ?

82

If all cats are animals and some animals are pets, which of the following is true?

i Tt Nfeadl Teer § 3R | T T e 8, df [waioad # & i

JqT T B
. . . . Correct

Option A Option B Option C Option D Answer

Enalish Some cats are |All cats are No cats are Some pets are
IS pets pets pets cats
) ) o) A

Hingi |0 et | Rifedt (e fifeet B2 T

T ¥ TRE T TR Rt &




83

Which of the following is not a prime number?

TeTfET & ¥ A9 & FHTT T&IT T8 29

. ] . ) Correct

Option A Option B Option C Option D Answer
English |2 3 > 9 D
Hindi |2 3 5 9

84

A shopkeeper sells a product at U1500, making a profit of 20%. What was the cost
price of the product?

T& AR TH 3cuig 1500 & =T & 3T 20% FT ATH FATET B SUTE FT AW

T FIT UT?
. . . . Correct
Option A Option B Option C Option D Answer
English|ll 1,250 Il 1,200 Il 1,300 I 1,350 A
Hindi |l 1,250 Il 1,200 1l 1,300 Il 1,350

The simple interest on a sum of money is l1200. If the principal is ll6000 and the
rate of interest is 10% per annum, for how many years is the money invested?

Rt =T 9T gremer s 1200 2

afe sgere Ueooo 2 3 sat <X 10% vl

¥ 2, dr fra= aur & forg aer forar s e 2
85
. ’ . . Correct
Option A Option B Option C Option D Answer
English |2 years 3 years 4 years 5 years c
Hindi |2 9T 3 95 4 T 5 @Il
A shopkeeper sells a product at ll600. He earns a profit of 25%. What is the cost
price of the product?
T & 3c01< 600 & S=ar 31 9F 25% FT ATH FHTET 21 3cUR BT AN
AT &7 B9
86
. . A . Correct
Option A Option B Option C Option D Answer
English |l 480 Il s00 Il s50 Il 600 A
Hindi |l 480 Il s00 Il s50 Il 600
A sum of money is invested at 10% pen' annum compound interest. What will be the
amount after 1 year if the principal is U5000?
TF TN 10% aﬁaaw%mw%&w@rwé’réﬁ gfe fere= Usooo 2 4 1
¥ & T AT FAT SE
87 Correct
Option A Option B Option C Option D Answer
English|l| 5,200 I 5,500 I 5,400 I 5,300 :
Hindi |l 5,200 I 5,500 I 5,400 l 5,300




The cost price of an article is l1200. If it is sold at U1350, what is the percentage

profit?
IF G I F Ao l1200 ®1 @fx =@ L1350 ww = smar 2, & wiowa @ =
>}
88 . . . . Correct
Option A Option B Option C Option D Answer

English|12.50% 15% 10% 13% A
Hindi ([12.50% 15% 10% 13%
Which of the following completes the series: 1, 4, 9, 16, __, 36°?
TRFaloigd # @ @I G & G BT ©: 1, 4, 9, 16, __, 367

89 Option A Option B Option C Option D ggg:::
English |20 25 30 32 B
Hindi |20 25 30 32

90

A person buys a product for 12000 and sells it for 2500. What is his profit
percentage?

T& sgTth U 3cute 02000 # @dar © 3T 38 2500 & S=ar @1 3@ o vl
?

FT ©
g , . . Correct
Option A Option B Option C Option D Answer
English|207% 25% 30% 40% B
Hindi |20% 25% 30% 40%

91

A person invests 200 at 12% per annum compound interest. What will be the total

amount after 2 years?

TF e 12% Uid 98 @hgie s U3 1200 T Far 31 2 98 918 R/t AN
Toraer srefre

. . . . Correct
Option A Option B Option C Option D Answer
English |l 1,344 Il 1,460 I 1,500 I 1,575 A
Hindi |l 1,344 I 1,460 I 1,500 I 1,575

92

A box contains 60 balls: 15 are red, 20 are blue, and the rest are green. What
percentage of the balls are green?

?Eﬁwﬁsoﬁ%%‘: 15 oITeT ©, 20 ATl 8, 3T FTehT 841 21 b= Uiad g &<t
?

. . . . Correct
Option A Option B Option C Option D Answer
English|25% 30% 40% 50% A
Hindi |25% 30% 40% 50%




93

If a sum of U1o,ooo is invested at 8% compound interest per annum, what will be the

amount after 1 year?

Tfx (10,000 # Tl 8% I g T W PRI H I@ S, T 199 @ 918

TR &= Brefre
. . . . Correct
Option A Option B Option C Option D Answer
English |l 10,800 | 10,850 I 11,000 Il 11,200 A
"indi |l10,800 10,850 Il 11,000 I 11,200

94

The sum of three numbers is 36. If the first number is 5 more than the second, and
the second is 3 less than the third, what are the numbers?

AT TEITH BT AT 36 B FIX Teall T6AT U T 5 S ©, A @A aEd 4 3

HH ¢, dr B¢ 7 B9

Option A Option B Option C Option D XEZ::::

English|8, 10, 18 7,9, 20 6, 8, 22 5,9, 22 A
Hindi (8, 10, 18 7,9, 20 6, 8, 22 5,9, 22
How many sides does a regular hexagon have?
T aTHd WS B fhaeil T et 2

95 Option A Option B Option C Option D gﬁls'l‘;f::
English|5 T 8 B
Hindi |5 7 8

96

The ratio of the ages of A and B is 5:7. After 10 years, the ratio will become 7:9.
What is the present age of B?

A 3T B Y 3G H FUT 5:7 81 10 T & ST 7:9 B AWM. B DI FAATA

g F4T B
. . A . Correct
Option A Option B Option C Option D Answer
English|35 years 30 years 32 years 40 years
A
Hindi |35 99 30 99 32 9Tl 40 AT

97

If the sum of two consecutive numbers is 25, what is the

sum of their squares?

giq T THMAR AT ST JHET 25 ©, T 3D 91 ST JIET T 29

. . . . Correct
Option A Option B Option C Option D Answer
English|625 650 625 600 A
Hindi |[625 650 625 600




98

A train runs at the speed of 72 km/h. How long will it take to cover a distance of

180 km?
T ¢ 72 TRHT/9eT ST 31 @ Felal ol 180 [HaAT T G 7 FIA H 39 (b=l
JHAT ?
. . . . Correct
Option A Option B Option C Option D Answer
English|2 hours 3 hours 4 hours 5 hours 5
Hindi |2 92 39S 4 g2 5 T

A person sells a product for 450 and incurs a loss of 10%. What was the cost price
of the product?

U sgTth U 3cUTE U450 H =T @ 3T 3T 10% T BT BlaT 2] 3UTE &7 AT

D T U7
99
. . . . Correct
Option A Option B Option C Option D Answer
English |l 500 Il 600 Il s50 Il 400 A
Hindi |l 500 Il 600 Il s50 I 400
What is the next number in the series: 3, 6, 12, 24, ___?
FGT H Tl T&AT F4T 2: 3, 6, 12, 24, ___2?
< ’ . . Correct
100 Option A Option B Option C Option D Answer
English |30 36 48 60 c
Hindi (30 36 48 60

101

What is the amount of Lump sum award paid for passing Hindi Pragya exam held by
Hindi Teaching Scheme with individual efforts?

s TeheTd vt & o) fRreqor e g srnTed fRE =T uEEr 3 A @

T Teeed QREHR S T T4 82

Option A Option B Option C Option D ngve::
English|Rs.3000 Rs.1600 Rs.1200 Rs.2400 b
Hindi ([Rs.3000 Rs.1600 Rs.1200 Rs.2400
Name any one state coming under "C" Region.

"I /T P AT A A FA TF TS FT AH TqRY

102 Option A Option B Option C Option D ggzl;f::
English|Andhra Pradesh |Bihar Delhi Uttar Pradesh
Hindi |3TeWRY IEIES Rt ST |

103

As per Official Language Rules, Andman Nicobar islans fall under which region?

T THAT & S[AR, AT AR 317 Qe 6T @F & T Sar 82

. . . . Correct
Option A Option B Option C Option D Answer
English|A Region B Region C Region None A
Hindi |& &7 g | T ax HIg Aol




104

What is the final exam prescribed for the clerical staff of central government offices?

FET GIHR & TATUDIT HAANET B [T A HATTH IQTHH FIT 89

. . . . Correct
Option A Option B Option C Option D Answer
English|Pragya Prabodh Praveen Parangath A
Hindi |Vl gare eI AT

105

How many members are there in the Parliamentary Committee on Official Language?

T TIHTT AT # Thds geeg & &9

. ] . ) Correct

Option A Option B Option C Option D Answer
English |20 30 10 k2 B
Hindi |20 30 10 L

106

When was the decision taken to make Hindi Language as Official Language?

TEET HTST FT TSHIET T &7 0T e [T ITAT?

. . . . Correct
Option A Option B Option C Option D Answer
English|14.09.1946 14.09.1949 14.09.1950 14.09.1957 B
Hindi ([14.09.1946 14.09.1949 14.09.1950 14.09.1957

Who was the Railway Minister when the Railway Budget translated in Hindi®?

IS I S9C HT BT H IR G a9 IA AT HieA 9

. . . . Correct
107 Option A Option B Option C Option D Answer
., |Lal Bahadur Kamalapati Mamatha
Engilsy Shastri Tripati Seddytaridey Benerjee A
Hindi |5 TN Gl iy HIR TS HACT STt
AT
Which is the Foreign Language included in the Eighth Schedule?
Fedl ST # ATHSA AR ST Hie Gy Do
. . . . Correct
108 Option A Option B Option C Option D Answer
English |Nepali Dongri Tulu English A
Hindi |sdTell ST g FOST
Who is the Chairman of Parliamentary Official Language Committee?
T TTHTYT AT B FETRT DIl 89
. . . . Correct
109 Option A Option B Option C Option D Answer
. , - Finance - None of the
English |Prime Minister Minister Home Minister above ;
Hindi (7o AR (Rewad gEpad (TR d T




The Official Language Rules 1976, is applicable on entire country except this one

110

State.
TS TG 1976 §H T ToT B! BIsHT G 2 U AN] BIT 2
. . . . Correct
Option A Option B Option C Option D Answer
English |Karnataka Telangana Andhra Pradesh |Tamilnadu b
Hindi |HAlcH SEOICl FETRT RIDELIEY




